Ruler Fractions #3 Consortium for Worker Education

Cycle 11

A

1.  12%:box gauge nail penetrate a 5/8" green dimension?
2. 11 % common gauge nail penetrate a 5/8" green mast?
3. 15 % box gauge nail penetrate a 1" green pole?
4. 12% common gauge nail penetrate a 4" dry beam?
5. 50 penny nail penetrate a 1 %2" dry mast?
6. 7 penny nail penetrate a 5/8" dry dimension?
7. 4 penny nail penetrate a ¥2" green rafter?
8. 10 %2 box gauge nail penetrate a 2 %2" green frame?
9. 10 %2 common gauge nail penetrate a 3/4" dry board?
10. 4 penny nail penetrate a 1 V4" dry beam?
11. 60 penny nail penetrate a 2 %2" dry beam?
12. 6 penny nail penetrate a 1 V2" dry board?
13. 10 penny nail penetrate a 2" green beam?
14. 7 penny nail penetrate a 1 ¥4" green beam?
15. 16 penny nail penetrate a 2 /2" green timber?
16. 9 penny nail penetrate a 1 ¥4" dry girder?
breakout_nails -1-

11352 = 2 — 193,

11352 = 2 — 193,

07/52=1— 2532

2% =1Y2— 3%

4Ya =52 — 1 Ya

11%16 = 2 Y4 — %

1%32 =12 — 154,

01%e =3 — 2Y1s6

178 =212 — 3/

02=1%—1
491 =6 —2
0% =2—1Va

17/16 = 3 — 1%

17432 = 2 Y4 — 1Y/32

17h6 = 312 — 2Y16

134 =2% —1
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1. clearance hole for a 6 gauge screw?

2.  pilot hole for a 6 gauge screw?

3.  countersink hole for a 14 gauge screw?

4.  pilot hole for a 20 gauge screw?

5.  clearance hole for a 24 gauge screw?

6. countersink hole for a 24 gauge screw?

7.  clearance hole for a 3 gauge screw?

8.  clearance hole for a 4 gauge screw?

9. clearance hole for a 24 gauge screw?

10. clearance hole for a 12 gauge screw?

11. clearance hole for a 2 gauge screw?

12. pilot hole for a 14 gauge screw?

13. clearance hole for a 9 gauge screw?

14. clearance hole for a 20 gauge screw?

15. pilot hole for a 20 gauge screw?

16. pilot hole for a 3 gauge screw?
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Cycle 11

27 %4 = %a

47 %%a - Yie = %a

V Ya+Ys=3

H 2Y%a4 - Yie = 7/e4

V 38 =738

o 3+ Yg =1

41 332 =3h2

35 7/ea =7/6a

V 38 =738

2 7s2=7/2

41 332 =3h2

12 Y4 - Y16 = 316

17 Y4 = 11/p4

Q 2gq = 21y

H 2Y%a4 - Yie = 7/e4

67 32 - Y16 =132
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